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SOCIOLOGY AUHLY URA

PAPER - II Au-11
Note :This paper contains FIFTY (50} Multiple-choice/Assertion and Reasoning/
Matching questions, each question carrying TWO (2) marks. Attempt All
the questions.
Qi vy et v (40) cgfsally sl WAL A Ass etrudall Wil
D M Weirl ZAsL dvididl 8. dds ¥aiql 8 (R) 3@ 8.

1. The social process by which 1.  2gydid yllad 53l wA [QadHn

conformity is ensured and deviance vesiadl @S WEaA g PRETURE
is checked is known as : w1
(A) usul¥s aiel
(A) Social norm _ .
(B) iglds yeul
(B) Cultural values
(€) A bys vgula
(C) Social conformity
(D) wFs Riagl
(D) Social control

adel vMd Wi qeilad
A%l 208 WML

9. Give the nearest term for unwritten

standards of behaviour :

(A) Values (&) el

(B) Law - (B) sluel

(C) Culture (©) gl

(D) Norms D) elrel

3. Who among the following developed 3. AAuidl 518 ‘dadd’ (Verstehen)

the concept of ‘Verstehen’' ? 4l Roeuddl swdl 8 ?

(A) Weber (A) o2

R ® 1A

(C) Merton (C) 434

(D) Durkheim @) guisH
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4.

Which of the following social
philosophers called sociology as

“social physics” ?
(A) Auguste Comte
(B) Herbert Spencer
(C) Max Weber

(D) Wilfred Pareto

According to Pareto, human action

is mostly :

(A) Logical
(B) Non-logical
(C) Traditional
(D) Illogical

Who i1s considered as founder of

French structuralism ?
(A) Levi-Strauss

(B) Radcliffe Brown
(C) Parsons

(D) Durkheim

Sociology-II
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6.

AAanidl s AUlFs dalHdd
ArrARAN WHCE BRs
2l

(A) w2 s

(B) s6le W-AR

(C) AU Qe

D) dads V32

Y2l Hd, uHdly G Hi2 eudd
3ol elu & ?

A) dlds ¢ia &

B) (Bt ailfs gy 8

(C) uIuRdd €l &

D) »dlfs siy 8

FA AAUUAISAULAL /LS 518 d1RUY
& ?

(@ adl ¥iu

(B) 3ssdls ouG

(C) WA

M) guidu



Who is associated with functional

analysis of conflict ?
(A) Coser

(B) Pareto

(C) Dahrendorf

(D) Marx

In Parsons AGIL Scheme, the goal
attainment function is performed by

which system ?
(A) Behavioural
(B) Personality
(C) 'Cultural
(D) Social

Which of the following perspectives
perceives reality as experienced

through the senses ?
(A) Positivist

(B) Interpretivist
(C) Critical

(D) Conflict

Sociology-II

Al wsiulets Qeawe wE A
U4 sia Asidg © ?

(A) si»R

(B) A3al
(C) S-gls
D) 5

Yiirudl AGIL di-irl, Ay Ridle

ustd sul dol glal WR usiy 8 7
(A) dd-dtel

(B) l3duul

(C) Hirglas

D) AULrs

AA-unidl sdl i qrdlasdid
sii-lal gt adl vgeyfasdl 3unl
o 8B 7

(A) aRdadlel

(B) wdye-lcis

(C) Esleus

@)
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10.

11.

12.

Who gave the concept of

anticipatory socialization ?
(A) Homans

(B) K. Davis

(C) R. Merton

(D) T. Parson

A set of norms and values that 11.

distinguish a group from the larger

society in known as :
(A) Sub-culture
(B) Community
(C) Social class

(D) Sub-system

In a social system, when the 19

consequences of actions are

intended and recognized by the

participants, it is called :
(A) Latent function

(B) Latent dysfunction
(C) Manifest dysfunction

(D) Manifest function

Saciclogy—II 6

10.

Aolad wlrsadl vula sid
L 7

(A) iR

(B) %. S[Au

(C) . M-

D) . wi-

ot UMYl s YA AN ALt
QIRBIL A Yedirl FUulA g s3a
8 7

(A4) QaL-dild

(B) AH{etd

(©) wul¥rs 49

(D) VoL eqeRel

s WML dAdaml 2 Busu
yReuHl dHl euol A ARdali-u
gLl A Wivy el 8 A Al

4 sealn © 7
(A) vu2R syl
(B) »ua2 (sl
(€) w2 (sl

D) wae syl



13.

14.

15.

Role conflict is commeon in the

situations characterised by :

(A) highly organised patterns of

social behaviour

(B) dominance of customary

practices

(C)

anomic conditions of the society

(D} informal patterns of social

behaviour

According to Talcott Parsons, a
distinction between the traditional
societies and the modern societies
can be made with the help of the
concept of :

(A) Organic analogy

(B) Pattern-variables

(C) Functional requisites

(D) Societal integration

The
stratification was first putforth by :

functional theory of

(A) Durkheim and Weber
(B) Marx and Engels
(C) Parsons and Merton

(D) Davis and Moore
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aqst A o uRRufeiul -
sla 8 d-l dimBisal g e 8 7

(A) UMIBES ddeddl vald Ad3d
N3ul
(B) uivawld Rdsidid ada

Al giza  (aledal-l

R Radl

D) AHGS AauldL vAnAl s

(C)

YRouy

2lesie ulRuwrl M YU 10 el
2 BUYFAS AHB ARl dslad 56
[Qeua-l ad saldl asiy ¢ 7

(A) @S AMIudl
(B) Ued-dlRAny
(©) usiults wdl
M) A3y yuu-

AHUFES 228 wsulows Rgid
Al way s 9 sul ?

(A) guldH 21 Ao
(B) Ml5U i d-wd
(C) WA 27 HeA

(D) SRA 24 33
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16. Jasuben worked as a clerk for 3

17.

years in a private office. Then she
passed Gujarat Public Service
Commission examination to become
a Mamlatdar. This mobility is
known as :

(A) Horizontal
(B} Circular
(C) Vertical
(D) Spatial

Match the author in column I with
their work in column II :

Column I Column I

(@) Radcliffe Brown (i) The Elementary
Structures of
kinship

(b) Levi-Strauss (ii) Structure and

Function in
Primitive Society
(¢} Nadel {izr) Argonauts of

Western Pacific

{d) B. Malinowski (iv) The foundation of

Sopcial Anthro-

pology
Key :
@ & ©@ @@
Ay @) G @ G)
B) @ GG @) Gv)
€C) (v @ @) @
D @) @ (v GE)
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18.

19.

20.

According to Durkheim, objects
which are set apart and considered

extraordinary are called :
(A) Sacred

(B) Profane

(C) Special

(D) Untouchable

The “Law of three stages” of social

development was originally

propounded by :

(A) Confucius

(B) Auguste Comte
(C) Maclver and Page
(D) Herbert Spencer

When owing to kinship norms man
marries a woman from outside his

village, this is called ?
(A) Endogamy
(B) Hypergamy
(C) Hypogamy

(D) Exogamy
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gulSH-Al Hd B dedid valuel
Ml 2Ud 8w [k usRAL

ARY B dd g sdauy © ?
(A) s
(B) wvaA

() [fire

- (D) YW

UG s [QsA-L AR dotssivl Rgid

MIERYIUS S S 7

(A ssylun

(B) »loR 532

(C) Asvudax vies Ay
D) ol AWAR

A0S Aot alRlA dl8 wal 2
Yy Uidirl aunl etsi<ll 25 wfl
AR @ 53 & A v g 8 S ?
(A) »iddon,

(B) viqdld
(©) uladin

(D) oilado
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21.

22.

23.

Give the nearest term for change by
which basic structure of society got
transformed from feudalism to

capitalism :

(A) Diffusion

{(B) Cyclical

(C)} Reactionary
(D) Revolutionary

Assertion I : According to Pareto,
change of elites is an example of

evolutionary change.

Assertion IT : Change of elites
occurs between those who have

characteristics of tiger and foxes.

Give correct answer from the

following :

(A) Both I and II are correct
(B) Both I and II are incorrect
(C) 1 is correct and II is incorrect
(D) 1 is incorrect and II is correct

‘Power is the ability to influence the
decisions of others inspite of inertia’.
Who said this ?

(A) Durkheim
(B) Marx
(C) Pareto
D) Weber

Sociology—I1

10

21.

22.

23.

dlddalel auidiyl  ySlglel
AL AIHUFS vy 3UidW

wHAsd Sl sl wos ealdl
(A) MW
(B) #1512
(C) ucnaLdl
D) silasis

af I: A32i Hd cgalBdaiid 32512
Gesildu uRadAsl B slmdl 8.

df II : cige(Baall sl 32812 ¥
ABdxHL ae’’ wA R’
el ¢id 9 du-ll a2 Wy 8,

{3
(A)

il WAL wae salal -

I »id IT oid ARl 8
(B) I v II einl wii2i &
(C)
O I v ¢ II wy .

“Rig 92 ya ol Feluiqd
AR Sl Yioudl W ul3d sin .’
2L Qe 58 s o 7

I Wy i I wig 8

(A) guildu
(B) A

(C) W3al
(D) Aol



24.

25.

Indicate the sociological perspective
which dominated Indian Sociology

during sixties and seventies :
(A) Indological

(B) Structural-functional

(C) Marzxian

(D) Dependency

Who have been considered as

lumpen proletariate according to

Karl Marx ?

(A) Unskilled workers
(B) Criminals, beggars
(C) Poor farmers

(D) Craftsmen

In the analysis of the process of
socialization who has given the idea
of expressive and instrumental

roles :

(A) Bales R.F.

(B) Talcott Parsons
(C) Margarate Mead

(D) Charles Cooley

Sociology-II
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A0S 2 QAd A ewuseil cdly
AHIALURA GUR sUL AxIgRAlY
sl afa g d ealdl

(A) euzdiy [Qzn

(B) w-Ucis—usiulows

(C) Hsualel

D) 2Bl
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(A) ofl-ea siRlarl
(B) 3200, [Hent
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(A) Sl .S,

(B) 2lesie ulRy=
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(D W sa
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27.

29.

30.

In an experimental situation a
group which is not exposed to the
independent variable is referred to
as :

(A) Control group

(B) Quasi-experimental group
(C) Experimental group

(D) Uncontrolled group

Who said that the city effects are
wider than city itself ?

(A) Oscar Lewis
(B) Ralph Linton
(C) Robert E. Park
(D) Louis Wirth

In Parsonian frame of reference
which of the following functional
pre-requisites perform the task of
integration ?

(A) Family

(B) Economy
(C) Government
(D) Religion

In a distribution, the most frequent
score 1s called :

(A) Mean
(B} Mode
(C) Range
(D) Median

Sociology-II
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s uuls wRRadlH By o 3
% ot WRa] wMa vieg wsd
lad Yl d g ssud 8 7

(A) [R4Bia %o

(B) dMylouHs oy

(C) NHlPUMS %Y

D) wAUBd %

ol MU AR Sl AN SiY
0.7 @1 [Qar 58 sy ?

(A) sz ddly
(B)
(C)
(D)
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31.

32.

33.

Who said that culture is an implicit
and explicit design of living

historically created by the man ?
(A) Kroeber

(B) Malinowski B.

(C) Kluckholn C.

(D) Radcliffe Brown

Who is the author of the book
entitled “The Passing of the

Traditional Societies” ?
(A) Daniel Bell

(B) Lewin M.

(C) Lerner Danial

(D) Miltor Singer

According to G.H. Mead, hunger,
thirst, fear, pain, hot and cold are
experiences associated with the

concept of :

(A) Me

(B) Generalised others
(C) Significant other

D) 1

Sociology—II
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CUgla B HIHa gl widlRs A
wler @ Adl-l Alneilds 4
ARl gl ¢in §. L Rae
s 54 7

(A) #io1R

(B) Ald-iasl ofl.

(C) seseint A,

D) 3sBas UG

“The passing of the traditional

societies” Yxds+ll AwWs sl © 7
(A4) &dlud a4

(B) adl+ A,

(C) @2 &-lua

D) Hleer Riag

@ AU, HIS U ofu, dA, oY, £,
dlW 2 Sl vidsdl 59 Qe
A AsAAL Sy B 7

a) %

(B) -dl-y~

(C) =1 ueca-ll al3qa]
D) §
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34.

35.

36.

Assertion 1 : According to Max
Weber, ideal type refers to goals
which a society must follow.

Assertion II : Since ideal type is
used for research, it is useful or

useless.

Give correct answer from the

following :

(A) Both I and II are correct
(B) Both I and II are incorrect
{C) Iis correct and II in incorrect
(D) I in incorrect and II is correct

Which of the following scholars
studied conflict at micro-level in

interaction of every day life ?
(A) K. Marx

(B) R. Dahrendorf

(C) L. Coser

(D) R. Collins

Which of the following would be a
totem according to Durkheim ?

(A) Prime Minister of India
(B) Flag of a country

(C) The uniform worn by school
children

(D) Popular national game

Sociology—I1
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37.

38.

39.

Which of the following is a principle

of objectivism ?

{A) meanings are printed on the

objects, awaiting to .be

discovered

(B} meanings are created not

discovered
(C) reality is socially constructed
(D) reality is subjective

Education has no effect on mobility
is an example of which type of

hypothesis ?

(A) Substance
(B) Research
(C) Null

(D) Working

When the size of population being
studied is small and illiterate which
of the following tools of data

collection cannot be used ?
(A) Interview schedule
(B) Questionnaire

(C) Observation

(D) Case study

Sociology-I1
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40, Who among the following is the
author of the book, “the Structure

of Scientific Revolution” ?
(A) Anthony Giddens

(B) Thomas Kuhn

(C) Karl Popper

(D} Paul Feyerabend

41. Which of the following is not a basic

method of qualitative research ?
{A) Participant observation

(B) Ethnographic research

{C) Survey

(D) Content analysis

42. According to Karl Marzx, classes are

determined by :

(A) Common life chances

(B) Position in the labour market
(C) Position at birth

(D) Relation to means of production

Sociology-II
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43.

44,

Match column I with column 1I :

Column I Column 11
@ Base and super (i) Levi-Strauss
structure
() Impression (@) Talcott
management Parsons
() Rationalization (i) Karl Marx
{w) E. Goffman
(d) Pattern-variable (@) Max Weber
Key :
@ & @©© @
Ay @) G @ @)
B) @G @ @ G
€y @ G @G @)
DO @ @ @

A pilot study is conducted :

(A) before starting the planned

research
(B) while formulating the research
(C)

(D)

while collecting data

when it is not possible to

conduct a large survey

Sociology—II
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45.

46.

47.

What do you call a representative
part of a population chosen for
studying the characteristic of the

whole population ?
(A) Case study
(B) Hypothesis
(C) Sample

(D) Cluster

Who is the author of the book “social

theory and social structure ?
(A) K. Davis

(B) T. Parsons

(C) R. Merton

(D) John Rex

According to Marx :

(A) Infrastructure is unrelated to

super-structure

(B) Infrastructure is unimportant

©

Super structure influences

infrastructure

D)

Infrastructure influences super

structure

‘ Sociology—I1
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(A) AulBds dawn

(B) GuseuriL

©) [Redd

D) ¥4

‘Social theory and social structure’
Yacseil Aums s 6 7
(A) %. sdlu

B) 2. wi-

(C) 2. M-

(D) i 34
HISUAL Hd ¢

(A) Midid, Wim e e Wd

Astdd eig el

(B) Wl oy iy eig el

(C) G HOYY WHLAL MBI 24AR

53 8

(D) Ul MY 6se AL AU

AN

53 49




48. Who is the founder of Centre for

Social Studies Surat ?

(A) M.S. Gore

(B) L.P. Desai

(C) Taraben Patel

(D) A.R. Desai

49, Who is the author of the book

49.

“Social Background of Indian

Nationalism” ?
(A) AR. Desai
(B) K.C. Panchunadikar
(C) LP. Desai

(D) K.M. Kapadia

50. Who has given the concept of 50.

relative deprivation ?
(A) Max Weber

(Bl) Robert Merton
(C) Charles Cooley
(D) Emile Durkheim
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48.

Are SI ALTUA 1261 Yclrll AUUS
s & ?

(A) .9y, 2R

B) ws.. zus

(C) A e

D) 3. . eWS

Alud s ALB-S s Slsyq

Agifsunl dus sia 8 ?

(A) .2, 2w

B) 3.0l vanels:

(€) us. . zud

M) 3.3, swulsaw

Ada wAdivdl Repadl s
24l ?

A) Asu duR

(B) Ree Ui

) Wl gdl

(D) Suda gullx
[P.T.0.]




ROUGH WORK
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